
( Mega 5 )
U 1 , (  Form , Meaning and Function )        
   A- Choose the correct answer :
     1 –  John ………………………… in New York .
          a – live                                     b- lives                                    c- living
    2 – Omar  …………………………… his father now  .
         a – calling                                  b- is calling                             c- calls
    3 – He  ……………………………… happy at the moment  .
         a – is seeming                            b- seems                                 c- seem
    4 –  The flat is  ……………………………… expensive .
        a – very                                       b- absolutely                           c- completely
        
        B- Do as shown between brackets :

     1 – The sun ( is rise ) in the east  .                                                   (  Correct )
    ………………………………………………………………………………………………………………………………………………………………………

     2 – The lesson ( start ) now .                                                           ( Correct  )
     ……………………………………………………………………………………………………………………………………………

[bookmark: _GoBack]     3-  was  /  The   /   absolutely   /   tiny   /   room  / .                        ( Rearrange  )
     ……………………………………………………………………………………………………………………………………………

      3-  I am remembering his address  .                                                  (  Correct )

     ……………………………………………………………………………………………………………………………………………    
